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Answer eight Questions only. Question one carries 16 Marks but this is not compulsory.
All other questions carry 12 marks each. ’
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I Afishing vessel has met with a casualty and has sustained serious damage. 16
The vessel is insured under Institute Fishing Vessels Clause, 20.7.87.
Explain the procedure to be followed to deal with the situation.
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2. Giving reasons for your answers, state whether the following statements 3 cach
are true or false :
a)  Damage to ship caused by any person acling maliciously is covered
under tnstitute Time Clauses - Hulls, 1.10.83.
b) Liability of hull underwriter under ITC-Hulls is limited to-the sum
insured in respect of all claims during the policy perivd.
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¢) The Deductible Clause of ITC-Hulls applies also to total loss claims
- whether actual or constructive - of the vessel.

d) Damage to vessel’s tail shaft sustained during refloating operations

following astranding, will not be allowed in general dverage.
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“Of prime importance to the hull underwnter is the value of the vessel
- proposed for insurance.” Comment on Ihlb statement with reference to
claims that may arise.
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“Under Institute Time Clauses - Freight, how is mdemm(y for total loss
and partial loss of freight calculated?
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fftn £5,000

MR £4,000

fafztge £3,000

e - £6,000

' £ 18,000
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A generator bottom end bearing fractured as the result of a latent defect
therein, and damaged a liner, cylinder head and piston. The cost of
replacement was as under :
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Bearing £ 5,000
Liner £4,000
Cylinderhead - £3,000
Piston ' £6,000

£ 18,000

The vessel was insured under Institute Time Clauses - Hulls, 1.10.83 ona

valuation of £ 1,000,000 with a policy deductible of £ 2,000.

a)  What would be the claim recoverable under the policy?

b) If the policy had contained the Institute Additional Perils Ciause,
what amount would be recoverable under the insurance?
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How are dry-docking expenses treated in the assessment of hull claims? 12
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. List the perils covered under the “Perils” Clausé of Institute Time Clauses 12
. - Hulls, 1.10.83. ‘
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Under ITC-Hulls, 1.10.83 what indemnity is provided by hull underwriters 6 each
for ?

a) partial damage to hull and machinery

b) unrepaired damage of the vessel?
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9. Describe the functions of the following : ‘ 6 cach
a) Lloyd’s Agents ‘
b) Ship Classification Societies.
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10. Write short notes on the following : - 6 each
a) Warranty of seaworthinees of ship .
- b)  Contributory value of ship for general average.

~--- THE END ----
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